ADVANCE ADAPTERSINC. | P/N: 716129

PO. Box 247, 4320 Aerotech Center Way
Paso Robles, CA 93447 PAGE10F1
Telephone: (800) 350-2223  Fax: (805) 238-4201 | PageRev. Date: 04-22-98

BUICK TRANSBELLHOUSING TO
CHEVY ENGINE BLOCK

KIT CONSISTS OF:

No. Qty Part No. Description

1 1 716129-BLK STEEL PLATE

2 6 723115 SPECIAL FLAT WASHERS
3 6 723122 5/16" FLAT WASHERS

4, 2 723718 3/8"-16x 1" F.H.C.S.

5 3 723721 3/8"-16x1"H.H.C.S.

6. 2 723723 3/8"-16x1-1/2"H.H.C.S.

7. 4 723732 3/8"-24x1"H.H.C.S.

INSTALLATION INSTRUCTIONS:
Sock converter will need to be spaced back from flexplate using (2) 3/8" flat washers on each bolt,
three places on flexplate using hex head cap screw 3/8"-24 x 1" with nuts and lock washers.

CHEVY ENGINE ILLUSTRATED

BOLT FLEX PLATE TO CRANK USING
ORIGINALBOLTS

ALIGNMENT PINSONBOTH SIDES MUST INDEXINTO
THE TRANSMISSION OR BELLHOUSING ADAPTER
PLATE AND ENGINE.

STEELPLATEBOLTS TOBLOCKUSING FLATHEAD
SCREWS. THENBELLHOUSING OR TRANSMISSION
BOLTSBACKTO STEEL PLATE.

3/8"SPECIAL FLAT WASHER - TWO (2) REQUIRED TO EQUAL

THICKNESS OF PLATE. USEBETWEEN STARTER RING AND

CONVERTER.

SPECIAL NOTE:  Thecomponentspackaged inthiskit have been assembled and machined for specifictypeof conversions. Modificationsto any of thecomponentswill void
any possiblewarranty or return privileges. If you do not fully understand modifications or changesthat will be required to complete your conversion, we strongly recommend that
you contact our saes department for moreinformation. Thisinstruction sheet isonly to be used for the assembly of Advance Adapter components. We recommend that aservice
manual pertainingtoyour vehiclebeobtainedfor specifictorqueva ues, wiring diagramsand other rel ated equipment. Thesemanua sarenormally availableat automotivedealerships
and parts gores.




